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PYCCKHH S3bIK (EI'3 cp.6amn) (mecTo) yya
" MBOY SIS |3 |35 :|5 ]3] ¢
= S = S S = S S =
39 Y = Y 39 = Y 3V =
1 BunHUIIKAsS TIKOIA 53 57 +4 u/y 17 43 45 +2
2 J1oOpoBcKast MIKOJIA-TUMHA3US UM. 1.M.CroHrMCcKOTo 56 60 | +4 6 9 -3 44 47 +3
3 XKypaBneBckast nikosa H/y H/y H/y H/y a7 49 +2
4 3ajzecckas IIKoia 49 H/y 5 24 -19 48 53 +5
S KoHcTaHTHHOBCKAS 1IIKOJIA 53 54 | +1 18 21 -3 41 43 +2
6 KpacHosecckast OCHOBHas MIKOJIA H/y Hly Hly 27 57 59 +2
7 MupHoBckas 1mkona Nel 61 63 | +4 H/y 15 49 58 +9
8 MupHoBcKas 1mkona Ne2 42 58 | +16 3 11 -8 55 58 +3
9 MomnonexHeHckas 1mkosa Ne2 70 63 | -7 12 10 +2 66 64 -2
10 | HoBoaHapeeBcKas mIKoJia 44 77 | +33 14 23 -9 54 55 +1
11 | IlepBomaiickas mikoa 54 56 | +2 9 6 +3 41 48 +7
12 | Tloxkapckast mKosa 58 53 | -5 15 30 -15 64 60 -4
13 PoaHuKoOBCKAas MIKOJIA-TUMHA3US 66 63 -3 n/y 25 49 54 +5
14 | CkBopioBckas nkoJja 52 66 | +14 11 12 -1 51 60 +9
15 | TemnoBckas mKoia 50 61 | +11 H/y H/y 46 54 +8
16 | YkpauHckas 1mkosa 48 5 | -3 17 29 -12 36 39 +3
17 | YKpOMHOBCKasl IIIKOJIa 43 54 | +11 H/y 16 41 45 +4
18 | YaiikuHCKas MIKOJIa 46 54 | 48 11 18 -7 56 52 -4
19 | IIupokoBckas mKoa 67 66 | -1 13 8 +5 52 59 +7
B patione | 57 60 51 55 +4
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